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") THE ECONOMIC
PROBLEM

Answers to the Review Quizzes
Page 32
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How does the production possibilities frontier illustrate scarcity?
The unatainable combinations of production that lie Sepoped the PPF illustrace the concepr of soercige
T'here simply are not enough resources o produce any ol these combinations of ourpurs, Additioenally,
while moving along the £PF to increase the production of one good requires that the producrion of
another good be reduced, which also illustrates searciny,

How does the production possibilities frontier illustrate production efficiency?
The combinations of outputs thart lie on the PPF illustrate the concepr of production efficiency. These
points are the maximum production points possible and are atained only by producing the goods and
services at the lowest possible cost. Any point inside the frondier reflects production where one or both
outputs may be increased withour decreasing the other outpur level, Clearly, such points cannot be
production eflicient,

How does the production possibilities frontier show that every choice involves a tradeoff?
Movements along the PPF frontier illuserace thar producing more of one good requires producing less of
other good. This observation reflects the resule that a fredeaff must be made when producing ourput
efficienrly.

How does the production possibilities frontier illustrate opportunity cost?

The negative slope of the production possibility curve illustrates the concepr of apperaunity cost. Moving
along the production possibility frontier, producing additional units of a good requires thar the outpur of
another good must fall. This sacrifice is the opportunity cost of producing more of the first good,

Why is opportunity cost a ratio?
The slope of the PPFis a ratio thar expresses the quantity of lost production of the good on the p-axis to
the inerease in the production of the good on the x-axis moving downward along the #£4 The steeper the
slope, the greater ratio, and the greater is the oppormnity cost of increasing the outpur of the good
measured on the horizontal axis,

Why does the PPFbhow outward and what does that imply about the relationship between

opportunity cost and the quantity produced?
Some resources are better suited to produce one type of good or service, like pizza. Other resources are
berter suited 1o produce other goods or services, like DVDs, IF sociery allocates resources wisely, it will use
each resource w preduce the kind of ourpur for which i is best suited, Consider a PPFwith pizza
measured on the x-axis and DV Ds measured on the p-axis. A small increase in pizza output when pizza
production is relatively fow requires only a small increases in the use of those resources siill good ar making
pizza and not good at making DVDs, This yields a small decrease in DVD production for a large increase
in pizza production, creating a relatively low apportunity cost reflected in the gentde slope of the PP cver
this range of ourput. However, the same small increase in pizza output when pizea production is relatively
farge will require sociery ta devore to pizza production those resources thar are less suited to making pizza
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CHAPTER 2 THE ECONOMIC PROBLEM

and more suited o making DVDs, This reallocation of resources yields a relatively small inerease in pizza
output for a large decrease in DVD outpur, creating a relatively Bigh epportumity cost reflected in the steep
.'.iIUpL' l."JI- l]'lt." F.IF',F”VCT I'I'Ii:i- m['lgl: “F I::I'I,I.l'l'l‘l.][. TI'II'.' l'lp‘p“f",ll'lif}-‘ st {:l:"- ]_'.‘i?.?ﬂ pl"'l-l.'l'l,ll.._[i{:l]'l. iI'I CTEAses ‘r\"i[l:'l I'I'II'.'
quaitity of pizea produced as the slope of the PPFhecomes ever steeper. This effect ereates the fowed owr
effect (the concavity of the APF funcrion) and means thar as more of a good is produced, the opportunity
cost of producing additional units increases.
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What is marginal cost? How is it measured?
Margiaal cost is the opportunity cost of producing eme more st of a good or service, Along a PP marginal
cost is reflected in the absolure value of the slope of the ME40 In particular, the magnitde of the slope of
the P.IF',F i.!i H"H: TI:'I;I.TgiI'IiI] COst nf dau rlil.' ('I-F [I:'H: gﬂ-ﬂld 1114:;|:.'|.|r{.'|:| alﬂl’lg l'hﬂ I-;l.xi.‘i. .'ﬂlnﬁ "I'I.I'.' I::I'I.I'igl'li[l.:lli_'lt..L I::I'F [.l'lﬂ' H]HPE
changes moving along the MR the marginal cost changes.

What is marginal benefit? How is it measured?
The marginal benefit from a good or service is the benefit received from consuming one more unic of ic. 11
is measured by what an individual is willing e give up {or pay) for an additional thar last unic.

How does the marginal benefit from a good change as the quantity produced of that good

increascs?
As the more of a good is consumed, the marginal benefit received rom each unit is smaller than the
matginal benefie received from the unic consumed immediately before i, and is larger than the marginal
benefit from the unit consumed immediately after it. This set of results is known as the principle of
decreasing marginal berefit and is often assumed by economists to be a common characteristic ol an
individual's preferences over maost goods and services in the economy.

What is allocative efficiency and how does it relate to the production possibilities frontier?
Proglction efficiency ocours when production rakes place at a poine on the P24 This indicates thar all
available resources are being used for production and society cannot produce additional units of one good
or service without reducing the outpur of another good or service, Aflocative gfficiency, however, requires
that the goods and services produced are those thar provide the greatest possible benelit. This definition
means that the allocative efficient level of outpur is the poine an the PPF (and hence is a production
efficient point} for which the marginal benefiv equals the marginal cost,

What conditions must be satisfied if resources are used efficiently?

Resources are used efficiently when more of one good or service cannot be produced without producing
less of some of another good or service that is salied more highy. This is known as allecative efficiency and i
occuts when: 1) production efficiency is achieved, and 2) the marginal benefic received from the last unit
prodduced is equal o the marginal cost of producing the last unir,

Page 37

li

2|.

What generates economic growth?
The vwo key factors that generate economic growth are sechmalogical change and capital accumulation.
Technological change allows an economy to produce more with the same amount of limited resources,
Capital accumulation, the growth of capital resources including human capital, means that an economy has
increased its available resources for production,

How does economic growth influence the production possibilities frontier?
Economic growth shifts the PPF outward, Persistent outward shifts in the production possibility frontier—
economic growth—are cansed by the accumulation of resources, such as more capital equipment or by rhe

development of new techmology. .. .
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CHAPTER 2 THE ECONOMIC PROBLEM 3

What is the opportunity cost of economic growth?
When a society devotes more of its scarce resources 1o research and development ol new technologies, or
devores additional resources o produce more capital equipment, both decisions lead w increased
consumption opportunities in future periods ar the cost ol less consumption today, The loss of
consumption today is the opportunity cost borne by society for creating economic growth.

Why has Hong Kong experienced faster economic growth than Canada?
Hong Kong chose 1o devore a greater proportion of its available resources o the production of capital than
¢ lanada, This allowed Hong Kong to grow ar a faster rate than Chanada, By loregoing consumprion and
producing a greater proportion ol capital goods over the last few decades, Hong Kong was able 1o achieve
grearar output per person than Canada.

Does economic growth overcome scareity?
Scarcity reflects the inability w sanisfy all our wans, Regardless of the amount of economic growth, scarcity
will remain present because it will never be possible o satisly all our wants. For instance ic will never be
possible w satisly all the wanis of the several thousand people who all would like o ski the best slopes on
WVail with only their family and a few best [riends present. 5o economic growth allows more wants 1o be
satishied but it does not eliminate scarcity,

Page ﬂm gives a person a comparative advan tage?

].i

A person has a comparative advantage in an activity il thar person can perform the activity ata lower
opportunity cost than anyone else, If the person gives up the least amount of other goods and services o
produce a particular good or service, the person has the lowest opportunity cost of producing that good or
UG,

Distinguish between comparative advantage and absolute advantage.
A person has a comparative advantage in producing a good when he or she has the lowest opportunicy cost
of producing it Compararive advantage is basesl on the vugpus forgone. A person has an absolte advantage n
production when he or she uses the least amount of gime o resoureer to produce one unit of thar partcular
good or service, Absalnte ﬂJmntdS? 5 d medsure .'Jlfllr}n.larr.rr:rfw'{}l I wsTg :'u;.l:rt:_

Why do people specialize and trade?
People can compare consumpiion possibilities from producing all goods and services through refrgficiency
against specializing in producing only those goods and services that reflect their comparative advantage and
trading their outpur with others who do the same. People can then see thar the consumption possibilities
from specialization and wrade are greater than under sellfsufliciency. Therefore it is in people’s own saff
interest to specialize, [twas Adam Smith who first pointed our in the Wealth of Nations how individuals
valnntarily engage in this socially beneficial and cooperative activity through the pursnit of cheir own self-
interest, rather than for sociery’s best interests,

What are the gains from specialization and trade?
From sociery’s standpoint, the total ourpur of goods and services available for consumption is greater with
specialization and rade. From an individual’s perspective, each person who specializes enjoys being able wo
consume a larger bundle of goods and services after rading with others who have also specialized, than
would otherwise be possible under self-sufficiency. These increases are the gains from specialization and
trade for sociery and for individuals,

What is the source of the gains from trade?
As long as people have dilferent opportunity costs of producing goods or services, woal output is higher
with specialization anel rrade than if each individual produced goods and services under self-sulficiency,
This inerease in output is the gains from trade,

w1 201 3 Mearson CariHa0 ] 3 Pearson Canada
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1. Why are social institutions such as firms, markets, property rights, and money necessary?
These social institutions factors necessary Tor a decentralized economy to coordinate production. firmr are
necessary to allow people to specialize. Without firms, specialization would be limited because a person
would need 1o specialize in the entire production of a good or service. With firms people are able to
specialize in producing particular bits of a good or service. lor a society o enjoy the fruits of specialization
ane trade, the individuals whe comprise that society must voluntarily desire to specialize in the frst place.
Discovering trade opportunities after a person has specialized in his or her comparative advantage in
production is what allows that person to gain from his or her own specialization effors. Trading
opportunities can only take place ifa marker exists where people observe prices o discover available trade
1‘:|}[Jﬂflul!ili1:s_ .-Wﬂnq 5 NeCessary [£8) a||1rw |nrw-|:q1-$r tr:n:ling in rn;u'lcr;ts. Withmlt ITOHIEY, gﬂnds wmll{l m:l:n:l
to be directly exchanged for other goods, a difficult and unwieldy situation. Finally people must enjoy
social recognition of and government protection of preperty rights to have confidence that their
commitments to tade arrangements will be respecred by everyone in the marker.

2, What are the main functions of marlkets?
The main function of 2 marker is w0 enable buyers and sellers 1o ger informarion and 1o do business with
each other. Markets have evolved because they facilivate trade, tha is, they facilitate the ability of buyers
and sellers to trade with each other,

3, What are the flows in the market economy that go from firms to households and the flows

from households to firms?

O the real side al the economy, goods and services flow from firms to households. On the monetary side
of the economy, pavments for factors of production, wages, rent, interest, and profits, low from firms o
households. Flowing from households wo firms on the monetary side of the economy are the expenditures
on goods and services and on the real side are the factors of production, labenr, land, capial, and
entrepreneurship.

w3 201 3 Pearson Canada
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Answers to Study Plan Problems and Applications

Use the following information to work Problems 1 to 3.

Frhanol Food crops
Brazil produces ethanol from sugar, and the land used (barrels per day) {tonnes per
to grow sugar can be used to grow food crops. Suppose ' Jav
that Brazil's production possibilities for ethanol and =0 el 0 ]
food crops are as in the table, 64 el 1
L. a. Draw a graph of Brazil’s PPFand explain how 54 amil 2
vour graph illustrates searcity. 44 aml 3
Figure 2.1 shows Brazil’s 228 The production a7 aml 4
possibilities frontier indicates scarcity because it shows 0 anl z
the limits wo what can be produced. In particular,
production combinations of ethanol and Tood crops
that lie outside the production possibilities frontier  FIGURE 2.1
are not attainable, Problem 1
b. If Brazil produces 40 barrels of ethanol a day,

C.

how much food must it produce to achieve 5 70\
production efficiency? g x

If Brazil produces 40 barrels of ethanol per day, it + | \ﬁ

achieves production elficiency if it also produces 3 _E 50 | \

rommes of food per day, 3
Why does Brazil face a tradeoff on its PPF § 40 ¢ <

Brazil faces a rradeotl on its PPF becanse Brazil’s a6 |

resources and technology are limited. For Brazil wo

produce more of one good, it muast shift facrors of 20 }

production away from the other good. Therefore 1o

inerease production of one good requires decreasing 10 ¢

production of the other, which rellects a tradeodT, ‘ _ .
If Brazil increases its production of ethanol 0 | ? 3 4 3 6
from 40 barrels per day to 54 barrels per day, Food crops (tonnes per doy)

what is the opportunity cost of the additional

cthanol?
When Brazil is production efflicient and increases its production of ethanol from 40 barrels per day 1o 54
barrels per day, it must decrease its production of food crops from 3 ronmes per day w0 2 ronmes per day.
The oppormnity cost of the additional ethanol is 1 wnne of food per day for the entire 14 barrels of
ethanol or 1/14 of a tonne of food per barrel of ethanol,

If Brazil increases its production of food crops from 2 tonncs per day to 3 ronncs per day,

what is the opportunity cost of the additional food?
When Brazil is pr-;.u.hu:timl efficient and increases its pruductiun of food CrOps from 2 sonmes pet da}r [T
tommes per day, it must decrease its production of ethanol from 54 barrels per day to 40 barrels per day.
The opportunity cost of the additional 1 tonne of food crops is 14 barrels of ethanol,

What is the relationship between your answers to parts {a) and (b)?
The opportunity costs of an additional barrel of ethanol and the opportunity cost of an additonal tanne of
fod i are n-n:ipl-ucals of each other. Thar is, the U]:E.H:urlunjly cost of 1 tonne of fooed crops is 14 barrels
ol ethanol and the opportunity cost of 1 barrel of ethanel is 1/14 of a tonne of Tood crops.

3. Does Brazil face an increasing opportunity cost of ethanol? What feature of Brazil’s PPF

w3 201 3 Pearson Canada
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illustrates increasing opportunity cost?
Brazil faces an increasing opportunity cost ol ethanol production, For instance, when increasing ethanal
production from O barrels per day o 22 barrels the opportunity cost of a barrel of ethanol is 1/22 of a
tonne of food while increasing ethanol production another 18 barrels per day {to a wual of 40 barrels per
day) has an opportnity cost of 1/18 ol a ranne of food per barrel of ethanol. The #£4s bowed ourward
shape reflects the increasing opportunity cost,

Use the above table (for Problems 1 to 3) to work Problems 4 and 5.

4.

Define marginal cost and calculate Brazil’s marginal cost of producing a tonne of food when

the quantity produced is 2.5 tonncs per day.
The marginal cost of a good is the opportunity cost of producing one more unit of the good, When the
quantity of lood produced is 2.5 rommes, the marginal cost of a tonne of food is the opportunity cost of
increasing the production of Feod from 2 ronmes per day 1o 3 ronmes per day. The production of ethanol
falls frasm 34 barrels per day to 40 barrels per day, a decrease of 14 barrels per day, The opportunity cost of
increasing food production is the decrease in ethanol product, so the opportunity cost of producing a ronme
of foed when 2.5 ronnes of food per day are produced is 14 barrels of ethanol per day,

Define marginal benefit, explain how it is measured, and explain why the data in the table in
does not enable you to calculate Brazil’s marginal benefit of food.
The marginal benefit of a good is the benefit received from consuming one more unit of the good. T'he
matginal benefic of a good or service is measured by the most people are willing to pay for one more unic of
it. The data in the table do not provide informartion on how much pesple are willing wo pay for an
additional unic of feod. The wable has no information on the marginal benefic of food,

Distinguish between production efficiency and allocative efficiency. Explain why many production

possibilities achieve production efficiency but only one achieves allocative efficiency.
Production efficiency oceurs when goods and services are produced ar the lowest cost. This definition
means that production efficiency occurs at any point eq the PEE T herefore alf of the production points on
the PPF are prmhn:tinu etficient. Allocative :,:Fﬂcig:r]c].r accnrs when f__:nn:k and services are EJF[]EII:]EL'EI at the
lewecsr come amel in the quanticies that provide the greatest possible benefit. The allocatively efficient
pr{jduc[i.u“ [Ju'u'll i-ﬁ l]'“.' .Tfﬂgﬂlﬂ' EJ('I‘iI'II' an "I'II.' PJPF ['hﬂf I'I.:iS "I'II'.' grr.'a rest PI:'I’S.‘ith{: I'll'.']'lf.:ﬁ['.
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THE ECONOMIC PROBLEM 7

Use the following graphs to work Problems 7 to 10. Harry enjoys tennis but wants a high grade in
his economics course. The graphs show his PP°F for these two “goods” and his MJ curve from tennis.

FIGURE 2.2 FIGURE 2.3
Problems 7 to 10 Problems 7 to 10
T T B
L :
2 7s 1 1ot
g Harry's PPF z
E L
g 0L g 8l
@ E’ Harry's ME
< I
¢ 0L b B
2 o
g -4
Lo = a4l
a
500 E
§ 2L
g
i b = i b L b k
40 2 4 6 8 10 = 0 2 4 6 8 10
Tennis [hours per week) Tennis [hours per week)

7, What is Harry's marginal cost of tennis if he plays for (i) 3 hours a week; (ii) 5 hours a week;
and (iii) 7 hours a weel?

(1) Harry's marginal cost of an hour of tennis is 1.5 percentage points. When Harry increases the time he
plays tennis from 2 houts to 4 hours, his grade in economics falls from 78 percent 1o 75 percent. His
opportunity cost of these 2 additional hours of tennis is 3 percentage points, so his marginal cost of playing
tennis for the third hour per week is 1.5 percentage poines. (if) Harry's marginal cost of an hour of tennis is
2.5 percentage points, When Harry increases the time he plays tennis from 4 howrs 1o 6 hours, his grade in
economics falls from 7% pereent to 70 percent. His opportunity cost of these 2 additional hours of tennis is
5 percentage points. 5o his marginal cost of playing tennis for the G hour per weel: is 2.3 percentage
points. (i) Harry's marginal cost of an hour of tennis is 5 percentage poines. When Harry increases the
time he plays tennis from 6 hours to 8 hours, his grade in cconomics falls from 70 percent to 60 percent.
His oppormunity cost of these 2 additional hours of tennis is 10 percentage points. So his marginal cost of
playing tennis for the seventh hour per weelk is 5 percentage points,

8. a. IFHarry uses his time to achieve allocative efficiency, what is his economics grade and how

many hours of tennis does he play?

Harry's grade in economics is 66 percent and he plays tennis for 7 hours per week. From the answer w
part (a), Harry's marginal cost of playing the third hour a week of wennis is 1.5 percemage points, his
marginal cost of playing tennis the ifth hour a week is 2.5 percemage points and his marginal cosc of
playing tennis the seventh hour a week is 5 percentage points, Plot these three opportunity costs in Figure
2.3 wo create Harry's marginal cost curve. Harry's opportunity cost of playing rennis increases as he spends
mere Time ploying rennis | laery uses his dme efficiendy if he plays tennis for 7 hours a week because when
he plays 7 hours a week his marginal benefit from the seventh hour of tennis, 5 percentage poines, equals
his marginal cost, also 3 percentage points, When Harry plays 7 hours of tennis, the PPFin Figure 2.2
shows that his grade in economics 63 percenr.

W3 201 3 Pearson Carida0] 3 Pearson Canada
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Explain why Harry would be worse off getting a grade higher than your answer to part (a).
I Harry studied for encugh hours to ger a higher grade, he would have fewer hours o play tennis. Harry's
matginal benefit from rennis would be greater than his marginal cost, so he would be more efficient (betier
off) if he played more hours of tennis and wok a lower grade.

If Harry becomes a tennis superstar with big earnings from tennis, what happens to his PP'F,
MB curve, and his efficient time allocation?
If Harry becomes a tennis superstar, his PPF does not change. Harry's PPF shows the grade he can produce
for different hours of plaving rennis and these production possibilities are unaffected by Harry's superstar
status. As a resule Harry's A0 curve does nor change. However Harry's marginal benefir from playving
tennis increases because of his big paydays so his A48 curve shifts righoward. As a result, Harry's eflicient
allocation ol ime now allocares more time w rennis (and results in a lower grade).
If Harry suddenly finds high grades in economics easier to attain, what happens to his PPF,
his MB curve, and his efficient time allocation?
I Harry finds high grades to easier to awain, his PPF shifes oneward, Tn particular for every level of rennis
plaving his grade in economics is higher. As a result Harry’s marginal cost of earning a high grade in
economics is reduced so thar Harry's "Liff'i:urvl. shifts downward. Harry's M8 cumve does not change

Fﬂl’JLH.JI.IM. Harr Jli mflr&h cill 1};19 it [mj_}i a mr'%i‘ has nv[ dﬁ‘“ﬂ‘h?pm ﬁgr%ﬂhzgﬁﬁl‘gﬁmm
aﬂ.bu 5 40 Jrn" LCrEasLn ﬁ 'Lr HIJJ'I'I'. HRE ll[]llﬁb (4] U.] llb IS P a}f‘i

ucts INCreases as mo it is pro

Make a graph that illustrates the farm’s

FIGURE 2.4
PPF, Problem 11
The PPFis illustrated in Figure 2.4 as 2P
Because the marginal cost of both wheat and porle 55
inetease as more of the good is produced, the MRy 3 800
displays increasing opportunity cost so it has the 3
“eonventional” bowed-outward shape. S P
The farm adopts a new technology that 2
allows it to use fewer resources to farten =
pigs. Use your graph to illustrate the impact 2 400
of the new technology on the farm’s PPF, 3
The new technology rotates the PPF ourward
froim PR o BEE 200
With the farm using the new technology
described in part (b), has the opportunity

0 2,000 4,000 4,000 8,000 10,000

cost of producing a tonne of wheat
Pork (kilograms per week)

increased, decreased, or remained the same?
Explain and illustrate your answer.
The opportunity cost of producing wheat has increased. The opportunity cost of a bushel of wheat is equal
te the magnitude of [ fislope of the 2P4). As illustrated in Figure 2.4, Tor each quantity of wheart che slope
af MR tus o smller magmitude than the slope of PPF so the opportunity cost of a bushel of wheat is
higher along PPF.. For a specific example, the opportunity cost of increasing wheat product from 600
bushels per week 10 800 bushels per week along PPF, is 6,000 pounds of pork bur is anly 3,000 pounds of

pork along FFE

W3 201 3 Pearson Carida0] 3 Pearson Canada



CHAPTER 2 THE ECONOMIC PROBLEM 9

Is the farm more efficient with the new technology than it was with the old one? Why?
The farm is able to produce more with the new technology than with the old, but it is not necessarily more
d. efficient. If the farm was producing on its PPF before the new technology and afier, the farm was
production elficient both before the new technology and afier,

In one hour, Sue can produce 40 caps or 4 jackets and Tessa can produce 80 caps or 4 jackets.

a. Caleulate Sue’s opportunity cost of producing a cap.
Sue forgoes 4 jackets 1o produce 40 caps, so Sue's opportunity cost of producing one cap is (4 jackers)/ (40
caps) or (L1 jacker per cap,

12.

Caleulate Tessa’s opportunity cost of producing a cap.
Tessa forgoes 4 jackets o produce B0 caps, so Tessa’s opportunity cost of producing one cap is (4
k. jackews)/ (B0 caps) or (.03 jacker per cap.
Who has a comparative advantage in producing caps?
Tessa's opportunity cost of a cap is lower than Sue’s opportunity cost, so Tessa has a comparative

L. advantage in producing caps.
If Sue and Tessa specialize in producing the good in which each of them has a comparative
q advantage, and they trade 1 jacket for 15 caps, who gains from the specialization and trade?

Tessa specializes in caps and Sue specializes in jackers. Both Sue and Tessa gain from rrade. Sue gains
because she can obtain caps from Tessa ara cost of {1 jacket)/(13 caps), which is (L067 jacker per cap, a
cost that is lower than what it would cost her 1o produce caps herselll Tessa also gains from trade because
she trades caps for jackers for 0,067 jacker per cap, which is higher than her cost of producing a cap.

Suppose that Tessa buys a new machine for making jackets that enables her to make 20 jackets

13 an hour. (She can still make only 80 caps per hour.)
" a. Who now has a comparative advantage in producing jackets?

Sue Forgoes 40 caps w produce 4 jackers, so Sue's opportunity cost of producing one jacket is (40 caps)/{4
jackets) or 10 caps per jacker. Tessa forgoes 80 caps to produce 20 jackets, so Tessa’s opportunity cost of
producing one jacket is (80 caps)/(20 jackers) or 4 caps per jacker. Tessa has the comparative advantage in
producing jackets because her opportunity cost of a jacker is lower than Sue’s opporuniny cost,

Can Sue and Tessa still gain from trade?

Tessa and Sue can sll gain from trade because Tessa (now) has a comparative ad\-'aurnf__:r.' in pmrluci:ng

b jackets and Sue (now) has a comparative advantage in producing caps. Tessa will produce jackers and Sue
will produce caps.
Would Sue and Tessa still be willing to trade 1 jacket for 15 caps? Explain your answer.
c Sue and Tessa will not be willing o tade 1 jacket for 15 caps. In particular, Sue, whose comparative

advantage lies in producing caps, can produce 1 jacker ar an opporunity cost of only 10 caps, S0 Sue will
be unwilling 1o pay any more than 10 caps per jacker,

W3 201 3 Pearson Carida0] 3 Pearson Canada
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Use the following data to work Problems 14 to 17.

Imports accounted for about 70 percent of sales of pork meat in Australia. Pork imports from
Denmark, Canada, and the United States rose 48 percent in the past year, Australian
producers receive about $2.30 per kilogram, which costs $3 to produce.

What does this data suggest about Australia’s comparative advantage in pork meat
production?

Australia does not have a comparative advanrage in pork mear production. I's comparartive advantage

is in some other indusery, such as mining,

Pork imports had grown rapidly in the previous four years. What does this suggest about the
change in Australia’s comparative advantage in this product and why might that change have
ocourred?

As Australia has increased its import of pork, it may have decreased production of pork and
increased production of some other good in arder to allocare its resources more efficiently.
Canada is an important supplier of pork meat to Australia, while Australia exports wine to
Canada. Construct both an Australian and a Canadian PPF for wine and pork that are

consistent with this pattern of trade.

FIGURE 2.5
Problem 16

Wine (litres)
O
o
Wine (litres)
&
o
T

75 75F
50 50
Australian PPF
Canadian PPF
0 25 50 75 100 125 0 25 50 75 100 125
Pork (kilograms) Pork (kilograms)
(a] Australia |b) Canada
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The pork industry had sought restrictions on imports but the government decided that there
was no case for restricting imports. What would have been the effect of restrictions on imports
on production efficiency in Australia?

With restricted trade, Australia would reallocate its resources and move along its PPF, Because
Australia is e e PPF, it achieves production efficiency.

For 50 years, Cuba has had a centrally planned economy in which the government makes the
big decisions on how resources will be allocated.

a.  Why would you expect Cuba’s production possibilities (per person) to be smaller than those

of Canada?
Cuba’s economy is almost surely less efficient than the Canadian economy. The Cuban central planners do
not know people’s production possibilities or their preferences, The plans thar are created wind up wasting
resources and/or producing goods and services thar no one wants, Because firms in Cuba are owned by the
government rather than individuals, no one in Cuba has the self-interested incentive to operate the lirm
efficiently and produce goods and services that consumers desire. Additionally Cuba does not actively rade
so Cuba produces most of its consumption goods rather than buying them from nations with a
comparative advantage, Because Cuba uses its resources o produce consumption goods, it cannot produce
many capital goods so its economic growth rate has been low,

h. What are the social institutions that Cuba might lack that help Canada to achieve allocative
efficiency?

OF the four social institutions, firms, money, markets, and property righes, Cuba's economy has frms and
money, Markets, however, are less free of government intervention in Cuba, But the major difference is the
property rights in the Cuban economy. In Cuba the government owns most of the lirms; that is, the
government has the property right 1w run the producers, Because the firms are not motivated 1o make a
profit, the managers of these firms have licde incentive w operate the firms efciently or ro prodace the
goads and services that consumers desire. In Canada, lirms are owned by individuals; tha is, people have
the property right thar allows them to rom firms These owners have the self-interested ncenrive ro npomm
the firm efficienty and o produce the goods and services people want, an incentive sorely lacking in the
Cuban economy.
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Use the following data to work Problems 19 to 21.
Brazil produces ethanol from sugar at a cost of 83 cents per gallon. The United States produces
ethanol from corn at a cost of 51.14 per gallon. Sugar grown on one acre of land produces twice the
quantity of ethanol as the corn grown on an acre. The United States imports 5 percent of the ethanol
it uses and produces the rest itself. Since 2003, U.S, ethanol production has more than doubled and
U.S. corn production has increased by 45 percent.
1Y. a. Does Brazil or the United States have a comparative advantage in producing ethanol?
Brazil has a comparative advantage in producing ethanol. In Brazil it costs 83 cents wo produce a gallon of
ethanol whereas in the United Staces it costs 31.14.

b. Sketch the PPF for ethanol and other goods and services for the United States,

FIGURE 2.5 FIGURE 2.6
Problem 19¢ Problem 19¢

o
o
52
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i " i
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Other goods and services |billions of units per year)
Cther goods and services (billions of units per year)

Figurc 2.5 shows the U.S. PPF, For simplicity and in keeping with Figure 2.6 on p. 40 of the
textbook, the PPFis linear. (Ignore the trade line in the figure until Problem 21.)

c. Sketch the PPFfor ethanol and other goods and services for Brazil.
[gmre 2.0 shows Braeil™s PR For simplicity and in keeping with the Figure 2.6 on p. 40 of the texibools,
the PPF is linear, (Ignore the rrade line in the figure until Problem 21_)
20. a. Do you expect the opportunity cost of producing ethanol in the United States to have
increased since 20037 Explain why.

If there have been no technological changes in the production of ethanol. then the PPF hetween ethanal
and other guudn and services has not chnn_u:_-d. If the L1S. PPF s bowed out, then the uppul'tullit}' cost of
producing ethanol in the United States inereased as more ethanol was produced.
b. Do you think the United States has achieved production efficiency in its manufacture of
ethanol? Explain why or why not.

I¥ the Unived Staves produces ata poine on it 2P then it does not misallocate its resources or waste them,
so it achieves production efficiency.
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Do you think the United States has achieved allocative efficiency in its manufacture of
ethanol? Explain why or why not.
The United Staves does not allow free trade in ethanol, which is why the LS. price exceeds the Brazilian
price. [ris likely that the allocatively efficient quantity of ULS.-produced ethanol is less than the quantity
produced in the United States. Most likely allocative efficiency requires that the Unived Stares should
produce less ethanol, more other goods and services, and rade with Brazil because Brozil has a comparative
advantage in producing ethanol.

C.

21. Sketch a figure similar to Fig. 2.6 on p. 40 to show how both the United States and Brazil can

gain from specialization and trade.
In general, the United States gains from trade with Brazil by importing ethanol from Brazil, Brazil
produces ethanol at a lower opportunity cost than the United States, so the opporunity cost wo the United
States of consuming ethanol is lower if the Unived States consumes ethanol produced in Brazil. In Figure
2.9 wmirally the United States produced and consumed 400 million units of other goods and services and
10 million gallons of ethanol.
Afrer specializing in the production of other goods and services and crading with Brazil, the United States
produces 800 million units of other goods and services, By mrading 200 million units ol goods and services
for 200 million gallons of ethanol, the United Staves consumes 600 million units of other goods and services
and 20 million gallans of ethancl, The consumprion of fegh other goods and services and ethanol increases
in the Unired States,
The story in Brazil is similar, In Figure 2,10 prior wo rrade Brazil produced and consumed million units of
other goods and services and 20 million gallons of ethanol. After specializing in the production of ethanol
£5300 millien gallons of ethanol} and wrading with the United Staces (20 million gallons of ethanol in
exchange for 200 million units of other goods and services), Brazil consumes 200 million units of other
goods and services and 30 million gallons of ethanol. The consumption of fegh other goods and services
and ethanol increases in Brazil,
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CHAPTER 2

Answers to Additional Problems and Applications

22,

23

Use the following table to work Problems 22 to 23,

The people of Leisure Island have 50 hours of labour a day that can be used to produce entertainment and
good food. The table shows the maximum quantity of either entertainment or good food that Leisure
Island can produce with different quantities of labour.

Is an output of 50 units of entertainment and 50
units of good food attainable and

efficient? With a production of 50 Labour Entertainment Good food
units of entertainment and 50 thours; {units per month) {units per month)
units of good food, do the people i U oT o

of Leisure Island face a tradeoff? 14 A T AU

50 units of enterrainment requires 25 24 4l 0T Ml

hours of labour, whereas 30 units of 3 iad) or a4

guud food rm.]u'lh.'s 20 howrs of labour. 44 Ll [y =%
Combined, this allocarion requires 45 w1 100 T a7

hours of labour, and is thus acainable,
It is not eflicient as 5 hours of labour arve lelt unused. Ar this point, the people of Leisure Island do not face a
cradesdt as they can increase production of either good without decrease production of the other good.

What is the opportunity cost of producing an additional unit of entertainment? Explain how the
opportunity cost of a unit of entertainment changes as more entertainment is produced.

The opportunity cost of producing an additonal unic of entertainment is the amount of good food thar must be
foregone, For instance, iF 20 hours were used to produce 40 units of entertainment and 30 hours were used o
produce A0 units of good food increasing entertainment production to 60 units would require 10 more hours of
labour. This would decrease the amount of labour allocated wo good foad production by 10 hours which decreases
production to 30 units of food, a difference of 10, Thus the opportunity cost of producing an additonal unit of
entertainment at this point is 1 unit of good food for every 2 units of enterainment (10 units of good food % 20
units of entertainment). Further increasing entertainment production wo 80 units would decrease good food
production by 20 units and so the opportunity cost at this point is 1 unit of geod food for every 1 unie of
entertainment. The oppottunity cost is increasing,
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Use the table to work Problems 24 to 23. Suppose that Sunland’s production possibilities are given
in the table.

24, a. Draw a graph of Sunland’s PPF and cxplain how your graph illustrates a tradeoff.
Simland™s PPFis illustrated in Figure 2,11 The figure

illustrates a tradeoll because moving along Sonland’™s MR8 Fozod Sunscrecn
producing more of one good requires producing less of the {kilograms {litres per
either goodd. Sumland crades ofT more production of one good pet month’ montl’
for less production of the other, S0 anl i
b, IfSunland produces 150 kilograms of food per month, 200 anul ]
how much sunsereen must it produce if it achicves 100 anl 100
production efficiency? o anl 130

It 2anland pl‘uduﬂ:s 1560 .-c:i|ng1":|1n:= of food per imoith, then
the point labeled A om rhe PPFin Figurr.' 211 shows

. . FIGURE 2.11
that Snnlaned must produce 75 livees of sunscreen Problem 12a
pet month o achieve production efficiency. o

c.  What is Sunland’s opportunity cost of
producing 1 kilogram of food?

Sinland™s PPFis linear so the oppormumicy cost of
producing 1 kilogram of food is the same ar all
quantities, Caleulate the opporunity cost of
producing 1 kilogram of food when increasing the
production of food from O w 100 kilogrms per
month, Berween these two ranges of production, the
quantity of sunscreen produced falls from 150 lirres 73 |
pet month to 100 lirres per month, a decrease of 50
lirres, The opportunity cost is 50 litres of sunscreen
o pain 100 Kilogmame of food, The opporunity cost
per kilogram of food equals (50 lirres of ; i ! { |
sunscreen /(100 kilagrams of food), or an 0 100150200 300 400 500

opportunity cost of L5 lirres of sunscreen per Food (kilograms per month)
kilogram of feod.

N

o

D
T

s
o

8

Sunscreen (litres per month)

Sunland's
PPF

d. What is Sunland’s opportunity cost of producing 1 litre of sunscreen?
Sinland™s PPFis linear so the opportunity cost of producing 1 licee of sunsereen is the same ac all
quantities, Caleulate the opporunicy cost of producing 1 litre of sunscreen when increasing the production
of sunscreen from 0 to 30 lirres per month, Berween these two ranges of production, the quantity of food
produced falls fram 300 kilograme per month to 200 kilograme per month, a decrease of 100 kilogramns.
The opportunity cost is 100 Kilogrmes of food w gain 50 lirres of sunscreen, or (100 kilegrams of
food )30 lirres of sunscreen) which yields an opportunicy cost of 2.0 kilogrms of food per licre of
sUmsCreen.

c. What is the relationship between your answers to parts (c) and (d)?
Answers () and (d) reflect the face thar opportunity cost is a ratio. The opporunity cost of gaining a unit
of a good moving along the PPF equals the quantity of the other good or service forgone divided by the

quantity of the good or service gained. The opportunity cost of one good, food, is equal to the inverse of
the opportunity cost of the other good, sunscreen.
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25. What feature of a PPFillustrates increasing opportunity cost? Explain why a country’s
opportunity cost does or does not increase.

The slope of the PPF measures the opportuniny cost of increasing production of the good plowed on the x-
avie. IF the conntme's 284075 howed aurward, then it experiences increasing opportunity cost [Fa country's
P linear, then the opportunity cost is constant, Sunland does not face an increasing opportunity cost
of food because ies PPF s inear. Tt opportunity costof 1 kilogram of food is constant ar 0.3 lirres of
SUTSCTCeTL,

26, In problem 24, what is the marginal cost of a kilogram of food in Sunland when the quantity
produced is 150 kilograms per day? What is special about the marginal cost of food in
Sunland?

The marginal cost of a kilagram of food in Sunland is constane ac all poines along its PPFand is equal 0
(1.5 lirres of sunsereen per kilogrom of food, The special point about Somland’s marginal costis the et tha
the marginal cost is constant. This result rellects Simlaned's linear AR

27. The table describes the preferences in Sunland.

a.  What is the marginal benefit from sunscreen and
how is it measured?
The marginal benefit from sunscreen is the benefit enjoyed
by the person whe consumes one more litee of sunsereen.
It is Lﬂl]ua| to the w“lingnuss o pay for an additional lrre.

Sunscresn Willingness to pay
{lirres per {kilograms of food
month) per lite
25 3
73 2
125 1

b. Draw a graph of Sunland’s marginal benefit from

Sunscreen. FIGURE 2.12
The wable gives the information necessary o Problem 27b

caleulate the marginal benefit from sunscreen, The
marginal benefit is equal 1w the willingness w pay
for an addicional litee of sunscreen. To draw the
marginal benelis curve from sunscreen, plot the
quantity of sunscreen on the x-axis and the
willingness to pay for sunscreen (that is, the number
ot kilograme of Tood that a person is willing vo give
up i geta livve of sunscreen) on the p-axis, Figure

2012 showes the marginal benefic curve,

28, Capital accumulation and technological change MB

bring economic growth, which means that the
PPF keeps shifting outward: Production that
was unattainable yesterday becomes attainable | A { |
today; production that is unattainable today 0 25 50 75 100 125
will become attainable tomorrow. Why doesn’t Sunscreen {litres per month)
this process of economic growth mean that
scarcity is being defeated and will one day be gone?
Scarcity is always being defeared ver will never suffer defear, Scarcity reflects the existence of unimet wants,
Fenple's wants are infinite—regardless of what a person already possesses, evervone can easily visualize
something else he or she wants, if only more tme in the day w enjoy their possessions. Because people’s
wants are insatiable, scarcity will always exist regardless of economic growih.

Willingness to pay (kilograms per litre)
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Use the following data to work Problems 29 and 30.
Kim can produce 40 pies or 400 cakes an hour. Liam can produce 100 pies or 200 cakes an hour.

29, a. Calculate Kim’s opportunity cost of a pie and Liam’s opportunity cost of a pie.
If Kim spends an hour baking pies, she gains 40 pies bur forgoes 400 cakes. Kim's opportunity cost of ]
pie i 00 eakes) /40 pies), or 10 cakes per pie. 1§ Liam spends an hour baking pies, he gains 100 pies but
Forgoes 200 eakes, Liam’s opportunity cost of 1 pie is (200 enkes) /(100 pies), or 2 cakes per pie.
k. If each spends 30 minutes of each hour producing pies and 30 minutes producing cakes, how
many pies and cakes does each produce?
Kim produces 200 pies and 200 cakes, Liam produces 50 pies and 100 cakes, The wial number produced is
70 pies and 300 cakes.
c. Who has a comparative advantage in producing pies? Who has a comparative advantage in
producing cakes?
Liam has the comparative advantage in producing pies because his opporunity cost of a pie i less than
Kim's opportanity cost. Kim has the comparative advamage in producing cakes because her opportunity
cost of a cake is less than Liam’s opportunity cost,

30, a Draw a graph of Kim’s PPFand Liam’s PPF,

FIGURE 2.13 FIGURE 2.14
Problem 30a Problem 30a
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Kim's PPFis illustraced in Figure 2013 Linm's £84
is illustrated in Figure 2,14
k. On your graph, show the point at which each produces when they spend 30 minutes of each
hour producing pies and 30 minutes producing cakes.
Painr A in both figures shows their production points when each spends 30 minutes making calees and 30
minutes making pies.
c. On your graph, show what Kim produces and what Liam produces when they specialize.

Kim will specialize in cakes and Liam will specialize in pies. Pone #in both figures shows the production
poants when each specializes,
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When they specialize and trade, what are the total gains from trade?
Kim will specialize in cakes and Liam will specialize in pies. IF they specialize and trade, the woral
production of feth cakes and pies increase, When each spends 30 minutes making cakes and 30 minues
making pies, together they produce 300 cakes and 70 pies. When they specialize, together they produce
400 cakes and 100 pies. The 100 increase in cakes and the 30 increase pies is the gains lrom trade,

If Kim and Liam share the total gains equally, what trade takes place between them?
Kim will trade 50 calees (half of the gain in cake production) o Liam in exchange for 15 pies (half of the
inetease in pie production).

Tony and Patty produce skis and snowboards. The first table shows Tony’s production
possibilities and the second table shows Patty’s production possibilities. Each week, Tony
produces 5 snowboards and 40 skis and Patty produces 10 snowboards and 5 skis.

Snowhoards Skas

Who has a comparative advantage in producing {per werkd {per week)

snowboards? And who has a comparative e -

d X iy 25 anl i
vantage in Fmducmg skis? . . a0 el 10
I'hi: premson with a comparative advantage in producing 15 el a
snowboards is the person who has the lower .

. : . . 10 anul 3
opportunity cost ol producing a snowboard. Tony's . ned 408
production possibilities show that w produce 3 more ' : ‘lml .
snowboards he must produce 10 fewer skis, So Tony's L AL u
opportunity cost of producing a snowboard s 2 skis,

Paty’s production possibilities show that w produce Snowboards Skas

10 more snowboards, she muse produce 5 fewer skis, aprer week) iper weekd
So Pary’s opporunity cost of producing a snowboard ap anl i

is 1/2 a ski. Parey has a comparative advantage in 0 anel 5
pravhicing snowboards because her opportunity cost of 0y aml 10

producing a snowboard is less than Tony's,

Tony has a comparative advantage in producing skis. For each ski produced, Tony must give up making
172 a snowboard, whereas for each ski thar Pawy produces, she must give up making 2 snowboards,
S0 Tony's opportunity cost of a ski is lower than Pacry’s.

If Tony and Patty specialize and trade 1 snowboard for 1 ski, what are the gains from trade?
Patty has a comparative advantage in producing snowboards, so she specializes in snowboards, Tony has a
comparative advantage in producing skis, so he specializes in producing skis. Paty produces 20
snowboards and Tony produces 50 skis,

Before specializing, they produced 13 snowboards (Pawy’s 10 plus Tony's 3) and 43 skis (Tony's 40 plus
Patry’s 31, By specializing, they increase their towal outpur by 5 snowboards and 3 skis. They can share this
gain by rading 1 ski For 1 snowboard. Pawy can ger skis from Tony for less than it costs her w produce
them. Tony can buy snowboards from Paty for less than it costs him o produce them. Both Patty and
Tony achieve gains from specialization and trade.
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32,

bi

C.

[

A+

bi

Indicate on a graph of the circular flows in the market economy, the real and money flows in
which the following items belong:

You buy an ilad from the Apple Store. FIGURE 2.15
Figure 2.15 shows the Circu_]:u flows in a market Problem 32
economy. Your purchase of an iPad from Apple is
the purchase ul-all Hulud from a “.' m. This flow iz in Bibssrenaitia Casdeand
the black arrow indicated by point a in the figure. labor, land, services
When you pay for the iPad, the corresponding O o, d

money flow is in the grey arrow in the opposite c.e

direction o the black arrow labeled =

Apple Inc. pays the designers of the iPad.
Apple’s payment to the designers of the iPad is the
payment of a wage 1o a factor of production. This
flow is in the grey arrow indicated by point & in che
figure, The Hlow of design services from the designer
o Appleasin the black arrow in the opposite
direction to the grey arrow labeled &

Goods

Foctor

Markets Morkels

Woges, rent Expenditura on
interast and goods and
profit sarvices

Apple Inc. decides to expand and rents an

adjaccnt building,
Apple’s decision o expand by renting a building
means that Apple is increasing the capital it uses. This fow is in the black arrow indicated by point ¢in che
Figuare. The flow ol the payment for the renal services ol the building is in the grey artow in the opposite
direction to the black arrow labeled e

You buy a new e-book from Amazon.
Your purchase of an e-book from Amazon is the purchase of a good from a firm. This flow is in the black
arrine labelled d in the figure. ¥Whom you pay for the ebook, the corresponding money (low is in the grey
artow in the opposite direction to the black arrow labeled

Apple Inc. hires a student as an intern during the summer.
Apple’s decision o hire a student intern is Apple increasing the labour it uses. The flow of labour services
is in the black arrow labelled ¢ in the figure, The low of the payment for the labour services is in the grey
artow labelled & which flows in the opposite direction to the black arrow labelled o

After vou have studied Reading Between the Lines on pp. 44—45 answer the following
questions.

How docs an increase in the use of corn to produce ethanol affect the opportunity cost of

COrnd

As using corn is an ineflicient method o produce ethanol, the opportunity cost of corn is increasing. The
article mentions that it takes the same amount of corn 1o produce one large tank of gas as it does o Feed a
Famnily for a year. Thus, the opportunity cost of the amount of corn it takes wo produce a tank of gas is one
Family's food for a year,
Why would you expect an increase in the quantity of corn produced to raise the opportunity
cost of corn?
Increasing the quantity of corn produced results in a higher opportunity cost of corn because acreage less
suited o growing corn is shifted away from other crops and inwe corn, As increasingly less suitable acreage
is used, the opportunity cost in terms of other crops forgone inareases.
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c. Why did the cost of producing corn increase in the rest of the world?
The cost of producing corn in the rest of the world increased for two reasons. First in other paris of the
world, droughts shifred the PPF inward, thereby deerensing the corn harvest and inereasing rhe
oppoertunity cost of the land that was being used 1o grow corn. Second the increased acreage devored w
corn creates a movernent along the #P6 which also raised the opportanity cost of producing corn.
d. Is it possible that the increased quantity of corn produced, despite the higher cost of
production, represents a move towards allocative efficiency?
It is possible that the increased quantity of corn has moved the United Staces closer to allocative efficiency.
The marginal benefit from ethanol increased because of the higher price for gasoline, so the allocatively
efficiene quantity of ethanol increased. To increase the production of ethanol more corn had o be
produced, so even with the higher opporiunity cost, the United States might have moved closer o the
allocarively efficient point of production,
34, Malaria Fradication Back on the Table
In response to the Gates Malaria Forum in October 2007, countries are debating the pros and
cons of eradication. Dr. Arata Kochi of the World Health Organization believes that with
enough money malaria cases could be cut by 90 percent, but he believes that it would be very
expensive to eliminate the remainingl0 percent of cases. He concluded that countries should

not strive to eradicate malaria.

A
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(i) Draw a marginal benefit curve that is consistent with Dr. Kochi’s opinion.

(iii) Identify the quantity of malaria eradicated that achieves allocative efficiency.
|'(i:g'1_ir-:; ETIEﬁRshuw:-; a marginal cost curve and a :
marginal Ecnefit curve that are consistent with Dr.  FIGURE2:16
Kochi's views. Dir. Kochi believes thar the last 10 Problem 34b

percent of malaria would be very expensive o

eradicate. The marginal cost curve in the figure %ﬁ 200

rellects this view because the marginal cost curve 23

rises rapidly after 90 percent of malaria is eradicated. £

The marginal benefir curve is downward sloping, S 5150 Mc

reflecting diminishing marginal benefic from malaria 8 €

eradication. The allocatively efficient quantity of E

malaria eradicared is 90 percent because thar is the 2 100

quantity for which the marginal beneliv of 5

eradication equals the marginal cost of eradicanion, ;

This ourcome demonstrates De. Kochi's conelusion S5 50

that countries should not atempt w completely g M8

eradicate malaria because for the last 10 percent of g

cases, the marginal cost of eradication exceeds the g == . O L -
s 0 20 40 60 80 100

marginal benefit from eradication.
B Percentage of malaria cases eliminated
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Lots of Little Screens
Inexpensive broadband access has created a generation of television producers for whom the

Internet is their native medium. As they redirect the focus from TV to computers, cell phones,
and iPods, the video market is developing into an open digital network.

Source: The New York Times, December 2, 2007
How has inexpensive broadband changed the production possibilities of video entertainment

and other goods and services?
Inexpensive broadband has increased the production
pomsi b licies,

Sketch a PPF for video entertainment and

other goods and services before broadband.
| -I"IC F_IP‘F ﬁh{]llld ]'Iﬂ\'c "."i.d‘L'I:] cnee rr:n'r]mr_'uT 0 Onc
axis and other goods and services on the other as
illustrated in Figure 2,17 by #EE 0 The 2E0
bowed ourward as a conventional MPf

Show how the arrival of inexpensive

broadband has changed the PPF,
The arrival of inexpensive broadband shifts the 2P
ourward as shown by the change from PR ro PR
in Figure 2.17. The intersection of the new PR
along the axis measuring video enterainment
increases and the intersection of the new PP alomyg
the axis measuring other goods and services does not
chamge.

Sketch a marginal benefit curve for video

entertainment.
The marginal benefit curve should be a conventional
downward -sloping marginal benelit curve as shown
in Figure 2.18. The marginal benefit from video
entercainment is measured along the verrical axis
and the quantity of video entertainment is measured
along the horizonal axis,

Show how the new generation of TV

producers for whom the Internet is their

native medium might have changed the

marginal benefit from video entertainment.
The marginal benefit increases because these new
producers will be better able 1o take advantage of the
Internet since it is their native medinm. Because
they will be able to create entertainment designed
for the Internet, the marginal benefit from video
entertainment increases, In Figure 2,18, the
marginal benefit curve shifts righvward from the

FIGURE2.17
Problem 35b and 35¢

PN
Q
ot

w

o

o
T

Other goods and services (billions per year)
— w
8 8

0 2 4 6 8 10
Video enterfainment {millions of units per year)

FIGURE 2.18
Problem 35d and 35¢

40

30+

Marginal benefit and morginal cost

{other goods per unit of video entertainment)

20}
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MBg
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Video entertainment [millions of units per year)

initial marginal benefit curve, M., to the new marginal benefit curve, M7,
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f. Explain how the efficient quantity of video EIGURE2.19
entertainment has changed. Problem 35f

It areival of broadband has decreased the margina

cost of providing video entertainment, so the g 3 40l MCp
matginal cost curve shifts righvward. This shife 3s B g
illustrated in the Figure 2,19 by the righvward shilt '@g
N . . . o=
of the marginal cost curve from M ro MO As ES st
. . . . o {
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